oy

gt =OARD OF INTERMEDIATE AND SECONDARY EDUCATION,MULTAN@ A
T OBJECTIVE KEY FOR INTERMEDIATE ANNUAL EXAMINATION, 2022 ﬂ af J,
|' & : &

Name of Subject: &,‘ﬂ;‘?]tg ",!. Ac-ﬁ'"“ﬁ;‘(s,essionf (| 2%Fa_22 W 0’(
‘/1 7
Q.Nos Paper Code . Paper Code Paper Code Paper Code !’ i
! B \

i3 B N oy
3 B % \
R e X 418
i 2 A N .
e o gl N il
SS9l \\
8 D
e c 5
i
{
b

13

14 <. . \\ ‘

15 'J \ ‘ ¥ ‘
16 | $ \

2 N o
RN . X

19 D

20 C ok _]

ﬂ
¥,2022 @y e < B i P08 S g ?_;fd/_”wﬂL “

2L Byt & e st u#TVersion:, - _L.J/':.Q u‘(\/ersiond:;ﬁ;ﬂwf b’,;u_; Ay d (Pl u}ﬁdfgﬁ/rﬁffuﬂe{
Slpnllbe i § 5 5 ey LAl iy o i L5 e Qe dJudoy Key (MCQs)(s%  {
R AN Rubries/i="_ B34 j 41y 1) A jefi e QKey 2 ) sl e LSl i £ S )

Prepared&CheckedBy: Dated: & —0/-_ 22
m Name Eesignation Institution ; ‘ Mobile No Signaturel
pr— B . s oY 5 T et

1L\ Ikt Joslecd | 7.2 m@%m@%ﬁsm

~

I o 2 W Yl =% 7 P

l’ ez <
. Re-Checked By ..“-_.:Lfkd:@?)(fsf_df(}?/ﬁdé_ﬁ’ﬁ@Lu'u:l"l(ey"d:fv/‘?(d":/“-l-::Lﬁl);{.glrULE/JJL ‘
1HE i ]




7
4 .
e, P wzw (B MG
CalfUtE ) |- e g@iacip

PRINCIPLES OF ACCOUNTING PAPER-| by - pq BISTAY
(COMMERCE GROUP) (osf k)
TIME ALLOWED: 2.30 Hours SUBJECTIVE Zil»> 230 = =
MAXIMUM MARKS: 80 80 = AS

NOTE: Write same question number _s:_(p):ufg_{.;“:’.ﬁ?é:r Z-,J:/:‘G'}.'»WJVLFJ{QKQB —td
and its part number on answer book, as given in the question paper.
SECTION-I s.o

2. Attempt any five parts. 10=2x5 -é;fot‘.b?f_f:mél#:.-;gf -Z/Z}LJU"'
(i) Differentiate between Real Account and Nominal Account. _u_’,fuydj‘bﬂ:u/dbﬂ;h@? (i)
(i)  Explain Cost Concept. el E i)
(i)~ Calculate trade discount 10% of Rs.8000/-. A B 10% gz 88 (i
(iv)  Why Bank Reconciliation Statement is prépared‘? ‘-'ﬁ‘-t‘(:’..lffi?u::( ke J:’B;Jl}f (iv)
(v)  Describe Order Cheque. _bff.;}LésJ.{é,LfG v)
(vi)  Give two examples of Current Liabilities. Sl (i)
(vil)  Goods withdraw by owner for personal use. Pass Journal Entry. L l8E S L Bl ZJw1dsi A (i)
(viii) Draw the format of Ledger. LA i
3. Attempt any five parts. 10=2x5 -g{;fmwélflé&céf -3 /:‘Ulr'
(i) Differentiate between Drawee and Drawer. ..u_‘/uggu"}uyz;i.ﬂh_}‘/mo.ufgf (i)
(i)  Why we prepare balance sheet? ?+Jk&pu:f oY (i)
(i)  Describe Revenue expenditure with two examples. .,g; .wi.é}c.u:’b‘m;falglif.ég: (iii)
(iv)  Narrate the term Errors of Principles. ~gEeolofunbi  (iv)
(v)  Describe indirect expenses with two examples. é;’..;u;c,u,'t DJ_WWJL (v)
(vi)  Define Check and list down its parties. ~E S OBIL S EE 8PS G (i)
(vii) Define Grace days. A Suhies Wi
(viii) What is interest on Capital? S borllrel Ly (viil)

SECTION-II 5.

NOTE: Attempt any three questions. 60 = 20 x 3 -“é;fagméamydgd'/ L
4. Joumalize the following transactions: = SIS /'chpdlu}au -4
uﬂmwru'z_y 1600 E7L213,5 (il s AUl s 7000 & i Bt K ie s 15000 L $ (i)

&5 3500 d" (vi) -Jf.ﬁh.x/&j) ASCEY édﬁﬁ-‘;u 12008 (v) vz 250 d" 4 WGJ)J_G,.L;,J (iv)

L i1 250 EAE b iss (viii LUt & L selip g1 600 8 i) i pyppedsSL LS

(i) Mr. Ali invested Rs.15000 in his business. -,Lfbr_ L/f,ru 600 Y ’J"" (%) _u:q)fz_.’.» 900 éfuf/’.’lg,(d)u (ix)
(i) Tools amounting to Rs.7000 were purchased on cash. (iii) Purchased miscellaneous goods for Rs. 1600 on credit.

(iv) Advertising bill of Rs.250 received from the daily "Jang" news paper. (v) Received amount of Rs.1200 on repair
services from a client's car on cash.  (vi) Repair services amountmg to Rs.3500 performed.  (vii) Rs.600 received
from a customer on repair services. (viii) Cash Rs.250 was paid to daily "Jarg".  (ix) Paid wages of employees
Rs.900. (x) Paid rent Rs.600 I

5. From the following transactions of Shakeel Traders prepare -J bul,L»dL:-J;Ls.rb’Lu,uJ*Cc,._«LPd& -5
accounting equation: -u’»fw_u‘{f/’dau 116  (iii) -u"J»]M’J/"J:_:J 85 (i) -UC,WL;JE’;,H_;J 5000 (i)

L0 20 LML L s (vi) Ll 70 477 (W) ..U‘L.u 48 ISP A msjir s [ 28e 2 55 IS ()

(i) Started business with cash Rs.5000. L325 =Pl e (viii) &1 150 Wi L K8 (vii)
(i) Bought goods for cash Rs.85, (iii) Bought goods from Mohsin Rs.118.  (iv) Sold goods for Rs.55 to Karim
costing Rs.48. (v) Paid cash Rs.70 to Mohsin (vi) Withdrew cash Rs.20 for personal use.
(vii) Paid Rs.150 shop rent.  (viii) Utilities expenses Rs.25,
(&1 3s)
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6. Prepare a Bank Reconciliation Statement of Mr.Azeem as on 31st March, 2021. -qf?g..@ &.ﬁ;
&2 T000/- Gs L2t iy -Lﬁ;x.{_..aﬁd’u’;}"u;y 1000/~ (i)

W £Ze s, 2000 (vi

(i) Balance as per cash book Rs.37000/-

B 20215431 6
42 37000/ S ECLA (i)
WL L0 500/~ (v) &2 5000/- o 2E ¢ (iv)

(i) Insurance premium paid by bank Rs.1000/-
Rs.7000.  (iv) Uncredited cheques Rs.5000/-

the bank Rs.4000.

(iii) Unpresented cheque

(v) Interest on investment Rs.500/- (vi) Dividend collected by

SfLllel A unst YUIL B 2SSl KA1 s

ST s P12 600001 B B 1 A 1 2019 (¥ _7
On 1st May, 2019, A sold .._ég&ugﬁfufu?uz B

A ..I..‘.-Jw’ -_lf(ﬂ)}'-/d{é)t'ufa‘ -Uls d)fbﬁ-ﬂ.)&&é_u 59,000/-

three months bill for the same amount which B duly accepted.
A discounted the bill with his banker on the same day

Required: Pass the entries in the books of A and B.

8. State with reasons whether the followings are capital or revenue; -Lg&yq,ugu,a /Ji&»g{/@k;@{,ﬁ: -8
P ARy &y/’;aw,;f/' © SIS (i) errdUz i Sax 2827 (i)
=bAIAG7 (x) ﬁm&,wl&fgr (ix) ﬁuwmfg.z:#'&dj? (viii) ﬁm&u’f"?/"&;w (vii)
(i) Purchase of furniture (i) Repairs of machinery (i) Cost of good will  (iv) Purchase of raw material
(v) Annual depreciation of fumniture  (vi) Purchase of second hand machinery  (vii) Salary paid to legal advisor

(viii) Wages paid for installation of a machinery  (ix) Paid fuel expenses  (x) Development expenses

9. Prepare trading, profit and loss account and -F 2014 5 31 j,rqﬂg#ﬂ,,n;u’ruuﬁcf cJAf:_.;Iréé_; -9
balance sheet from the following data on 31.12.2014.

Particulars & Debit _ Credit
Purchases A7 25000
Sales w3y 65000
Opening stock 025 25300
Salaries A 9700
Advertisement d)l_.ﬁg 4000
Cash iy 18000
Furniture P 12000
Insurance 5 1800
Bad debits 5Pyl st 1200
Creditors g 10000
Capital & 22000
Total 97000 97000

&smhEwjy 2 () sz BnFoucan (i corzbicd® i

LA 2580w (5 5iat®
Adjustments: (i) Closing stock Rs.12300/-

(ii) Prepaid insurance Rs.600/-. (iii) Salaries outstanding Rs.1300/-

(iv) Depreciation on furniture Rs.1200.

81-2022(A)-4000 (MULTAN)
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20= AF

-

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

A A

(1) Fixed assets which does not have physical existence are classified as: -(tZ i/’ ft’ﬂu.t‘gﬁsuﬁﬁlcﬁalgﬁb‘ﬂﬁr/ ok

(B) Intangible J/ﬁf

A business in which first goods are produced and

(A) Tangible tj/

(2)
then sold to customer is called:

(A) Services business Jg»KJL»‘v

(C) Trading business JE_;JJKJJL?:
A transaction between departments within the
organization is called:

(A) External transaction L-)_‘;L-;‘-}fj:,g

(C) Credit transaction d._Juf-‘-JJLﬁJf
Assets minus liabilities are equal to:

(A) Capital .l (B) Drawings L,‘i";bz
(5) The normal balance of assets account is called:

(A) Debit balance ™)

(C) Positive balance iz
The equality of debit and credit is proved through:
(B) Ledger %

Purchase journal is used to record:

(A) Journal {t}u
(7)

(A) Cash purchases & /=15

(C) Credit purchases 7=/ U/lss!
(8) A cheque which is returned by the bank is called:
(B) Order u‘é

Now a day, bank issues bank statement instead of:

(A) Cash book

(A) Bearer &
(9)
(B) Pay in slip ?J--u[%
(10) The contra entry is recorded in the cash book on:
(A) Debit side 3 Aev}
(C) Debit and credit side ¥l-ei lslews
(2 3s)

(C) Fictitious (5 (D) Current (/b
e bl e bl Uk Ehe bl I Lk L

(B) Manufacturing business Ls/650s
(D) Non-trading concern ublazi_f"/f

- b‘llv.f @ muy».&uf%m&mm 0% )u"—"L:_Ji

(B) Internal transaction wjjdduﬁi

(D) Cash transaction ¢ s/
-.:‘_t’ﬂ.{'/!?g,{/f.;lﬁl;a.u:;l?ﬁw

(C) Current Assets Lt‘fo’ﬂg (D) Investment (S/6.4

e b 2

(B) Credit balance u“!f..*..;é/(
(D) Negative balance uﬂ-’d"

e defemband utebat s
(C) Trial balance U1 (D) Cash book £

e b et L& Sy 7 Ug s
(B) Cash sales =33/
(D) Credit sales w31 el
-c,-li‘W/ ‘-;-LT:J/&.)-JAJ—%&-@
(C) Crossed s/ (D) Dishonored s.4% =
bl Gz tnf = SHBST
(C) Pass book £/l (D) Bank draft =33t
e b s AL i

(B) Credit side 3 Azt
(D) Debit side in petty cash book ¥ L».z«.i(f_{f J"-‘-'/ @JF

(M

(2)

“)

®)

(9)

(10)
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e t;J,L‘J/u"J:-’U,f Kol & (1Y

(11) The normal balance of bank statement is called
(B) Zero balance u"&/’

(A) Debit balance U™}
(D) Negative balance u"de”
e dlek  (12)

(C) Credit balance %ot
(12) Bank service charges are expense for: -u_?&n{'pié.ﬁ
(A) Bank ...G» (B) Auditor je.:'T (C) Government b (D) Depositor shsd
(13) Payment of bill before due date means: -sj—:’/‘cﬁ I:F%:.:I’:d/di'»z (13)
(A) Retiring of bill (S ks (B) Discounting of bill t1:02.,(5 4
(D) Bill sent for collection b2l Z}»/_Ex
Ak s BSke (19)

(C) Endorsement of bill 455

(14) In case of renewal of bill, the old bill is:
(A) Cancelled <t 7>  (B) Retired <t/  (C) Discounted 4’_mgyﬁ.s= (D) Honored ﬁ-_&w,/ﬁ fo
—Efndpesjfen T (15)

(15) Loss on sale of fixed asset is called:
(B) Capital loss sl -

(A) Revenue loss @i (UL
(C) Revenue profit 8;J_UL (D) Capital profit ba'.d;L 7
e QWSS St 2 SR s A58 (18)

(16) Carriage paid on purchase of machinery debited

to carriage account is a:
(B) Principle error S

{A) Compensating error J’J‘ de
(C) Error of omission uu' JJ;J:‘ (D) Error of commission J’h ;fgﬁt‘f
(17) In case trial balance does not agree, the difference -q_atgd:afa.ftﬁ Laak s H:JJ}?:@W;/,U,J%JI}/G (17)
is put to:
(A) Capital i (B) Drawings ;lfde e (C) Trading :U'GJE (D) Suspense account :U’G?/f
U3 (18)

(D) Liabilities =212

(18) Miscellaneous receipts are:
(A) Incomes U7 (B) Expenses =bkL7l  (C) Assets bk
(19) Depreciation is a business: .--::..-&'L)JKU’;J’/; (19)
(B) Liability (5130 (C) Revenue (47 (D) Expense 2/
s ety Pos  (20)

(A) Asset 2

(20) Interest on drawing is a business:
(B) Liability (5053

(C) Income (47 (D) Current Asset 2815l

(A) Expense /7

81(0Obj)-2022(A)-4000  (MULTAN)
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